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There it was above three - "3 ey ann

Overview

X217 ruled (according to the conclusion of the X73) that if one stretches out his hand
full of M7°s to the 71"'717, he is 2’11 even if he did not place them down on the ground;
seemingly because TR 7nw X7 913 7R (even though TRk aw *H5 7aK). The R
challenged this from the first 71wn where one made an 77°pY and the other made the
1n17 both are Mo, even though the one who made the 77°py extended his hand to the
other MW, so if 73R 7MW X2 O3 7a8, he should be 2°11. The X n3 answered that the
mwn which states he is Mv» is in a case where the extended hand was higher than
three 0'1oY from the ground, however the ruling of X327 (that he is 27) is where the
extended hand is within three o°rdv from the ground. Our n1©0N discusses this issue.
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So granted that 72 7K is Ta8 77w Y, nevertheless there is no 71377 and therefore
he is Mv», as v"'w1 explained.

nvoINn asks:
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779K 7" asked; according to 7129, who established the 7w, in the beginning of

our noon, like ¥'" -
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Who maintains X°»7 3mme v2s e, so in this case which the X123 cites here,

why are they both m1wp -
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!'ann 7"72. He is not M5 on account of TR 7w 713 738 (which would mean that since his hand is attached to his body
[which is in the *"777] therefore we consider as if his hand is also in *"717 (even though it is in the 1"777), but rather he
is Mo (even though 73R 7°nw X7 7> 73X, and we do consider as if his hand is in the 2"771 [which it actually is]), because
(since his hand is 's» 79¥1?) it is not at rest; no 7737 was made, therefore he is 7w5.
2 The x»3 there asked why should the 2"7va be 2»n when he placed the item in the hand of the 1w, since the 17 7 is
not 2°mdv '7 ¥ 0°now 7 (the size needed for a proper 7717 QPH).
3 This means that if the item is ‘captured’ (7017p) in the airspace of a mwn, it is considered as if it rested in that mwn,
so therefore in the 711w since the item is in the airspace of the 7"77 (in the hand of the *1v) it is considered as if it rested
in the 7"71 (where there is a 7"v7 2pn)..
4 This is the case where the 2"7w2 stretched out his hand to the 1"777 and the *1v took it from him.
5 The &7 just said that if the hand is below three o’nov, he is 21 because it is considered as if it is at rest, the same
should be even above three o°mov according to ¥, who maintains X7 AR 12 702p even above three 0'nov. The
2"nva should be 211 when he stretched out his hand into the 2"717. How can 17127 establish the mwn like ¥"9; it cannot
explain the ruling of 2>ws omIw!
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For is not three o’rov above the 7"77 according to ¥''9, the same as below three
onov according to the 3139?!

nB0IN answers:
= SN NNV 91 TN 920 N7 920 YN

And one can say that 7129 maintains 7aR 7792w 09 TaR.

mooin offers an alternate approach:
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And the "1 explains the X3 as follows; ‘there (in the 71wn) it is above three’

0°moY, so we can maintain that TaR ;79w 013 78,2 and therefore he is 705 -
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As "1 stated in the first P92 that ‘the hand is dragged after the body’ (therefore
he is MWvo; however here in the case of X217, it is lower than three 2°15Y where TR
013 1S TAN ;7R K.

Summary
X297 always maintains 7aR 7% X? 71 723X according to *"w1. According to mooin if it

is 'wa nun? then TR W RS, however '3 nhvnh we say TR 10w,

Thinking it over

Seemingly the reason why the >3 differentiates between '3 un? (where 7aR 7°nw R?)
and w2 719917 (where 728 7°nW) is because "W 7un? it is considered as if it is resting on
the ground and we cannot consider it attached to the 713 in the other mwA. Therefore
according to ¥"7 who maintains 79p we also cannot say 71 73R (even '3 9vn?),
should we also say that 127 disagrees with X217 (even W mun?)? What would be nuon?
'3 by 93 7ax?10

6 7aR 7MW 7 TAR means that the hand is attached to the body, so if the body is in the >"77, the hand (even though it
extends into the 1"731) is considered as if it is in the *"77. Therefore even if we say 7 AnNAWw "3 7VIP, the 2"nva will
still be My, for it is considered as if his hand is at rest in the *"117 (the mwA where his body is), so no 8% was done.
7 According to the >" there is no need for 731 to argue with X37; they both agree that 'x» 75vn% (the case of the mwn
and 7VI7P) we say TAR W 713 7aR and therefore the 2"7va is MWD, however '3 7UX2 we say TaR 7AW R? 713 Ta.
8 The difference between >"vA and the *"3 conceptually (according to 837) is that according to >"w9, regarding 71 738
it is always 728 7"nw W whether the 7° is ' 7291 or '\ 7unb. The reason why he is M5 in the 71wn (even though his
hand is legally and factually in the 1"777) is because since it is suspended in the air there is no 7737 (therefore there is
the difficulty according to ¥"3). However the n"J maintains that according to X2 there is a difference between un?
'3 where TaR W R? 913 7aR and '\ 799n? where 7R 70w a1 78, Therefore m21 does not need to argue with X21. See
Thinking it over’.
 See MmooIN there “Xn 1"7 regarding the X073 in the X713 there.
10 See i M.
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